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1. Plot the points (2,3), (-2,3), (-2,-3), (2,-3), (0,5), (-2,0) .

° Watch Video Solution

2. If three verticles of a rectangle are (0,0), (2, 0), and (0, 3), find the

coordinates of the fourth vertex?

° Watch Video Solution
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3. The base of an equilateral triangle with side 2a lies along the y-axis
such that the mid-point of the base is at the origin. Find the vertices of

triangle.

° Watch Video Solution

4. Find the distance between the pair of points (5,-12) , (9,9).

° Watch Video Solution

5. Find a point on the x-axis which is equidistant from the points (7, 6) and

(3, 4).

° Watch Video Solution

6. Determine, by distance formula whether the points (0, 0), (3, 2), (9, 6) lie

on line?
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7. Show that (8, 2), (5, - 3) and (0,0) are the vertices of an isosceles

triangle.

° Watch Video Solution

8. Without using the pythagorus, show that the points (4, 4), (3, 5) and (-1,

-1) are the vertices of a right angled triangle.

° Watch Video Solution

9. Find the coordinates of a point which divides externally the line joining

(1,-3) and (-3, 9) in the ratio 1: 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_XgjdO9htygyk
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10. In what ratio, the line joining (-1, 1) and (5, 7) is divided by the line

x+y=4

° Watch Video Solution

11. The vertices of a quadrilateral are at (- 2,4), (1, 3) (4,3) and (1,2). Show

that the quadrilateral is a parallelogram.

° Watch Video Solution

12. Find the point of intersection of the medians of the triangle with

vertices at (- 1, 0), (5,- 2) and (8, 2).

° Watch Video Solution

13. Find the area of the triangle whose vertices are (3, 8), (- 4, 2) and (5, 1).

° Watch Video Solution



https://dl.doubtnut.com/l/_tUqskCU5rJiJ
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14. Show that the following triple of points are collinear : (2, 4), (0, 1), (4,

7).

° Watch Video Solution

15. Find the values of x for which the points (x, -1), (2, 1) and (4, 5) are

collinear.

° Watch Video Solution

16. Draw a quadrilateral in the cartesian plane whose vertices are (-4,5),

(0,7), (5,5) and (-4,- 2). Also find its area.

° Watch Video Solution



https://dl.doubtnut.com/l/_zW86IE4cyqYW
https://dl.doubtnut.com/l/_ONG4KJUe8iTB
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17. Prove that in a right angled triangle the mid-point of the hypotenuse

is equidistant from its vertices.

° Watch Video Solution

18. Find the equation of the set of all points equidistant from the point

(4, 2) and the x-axis.

° Watch Video Solution

19. Find the equation of the set of points such that the sum of its

distances from (0, 2) and (O, - 2) is 6.

° Watch Video Solution

20. A point moves such that the sum of its distance from two fixed points

(ae, 0) and (-ae, 0) is always, 2a. Prove that the equation of the locus is


https://dl.doubtnut.com/l/_8am8y7LhfDKh
https://dl.doubtnut.com/l/_hErDsfPnv1GQ
https://dl.doubtnut.com/l/_AmfYvDW9QtQV
https://dl.doubtnut.com/l/_fUrnQVGrr8mL

2 2
z—z + 3;—2 = 1,where b = a*(1 — €?)

° Watch Video Solution

21.The Slope m of a line is given by : m = /3 . Find its inclination.

° Watch Video Solution

22.The slope of the line passing through the points (3,-2) and (-1,4) is:

° Watch Video Solution

23.Find the slope of the line passing through the points :

(3,-2) and (7, -2).

° Watch Video Solution

24. Determine A, so that 2 is the slope of the line through (2,5) and (A, 3)



https://dl.doubtnut.com/l/_fUrnQVGrr8mL
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° Watch Video Solution

25. A line passes through (z1, y;) and (hk). If slope of the line is m, show

that k — y; = m(h — ;).

° Watch Video Solution

26. State whether the two lines in the following problem is parallel,
perpendicular or neither parallel nor perpendicular :

through (5,6) and (2,3), through (9,-2) and (6,-5).

° Watch Video Solution

27. State whether the two lines in the following problem is parallel,
perpendicular or neither parallel nor perpendicular :

Through (2,-5) and (-2, 5), through (6,3) and (1,1).

° Watch Video Solution



https://dl.doubtnut.com/l/_iV8l96VfeQGB
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28. Line through the points (-2,6) and (4 ,8) is perpendicular to the line

through the points (8,12) and (x, 24). Find the value x.

° Watch Video Solution

29. Show that the points (1, 1), (2, 3) and (3, 5) are collinear.

° Watch Video Solution

30. A quadrilateral has the vertices at the points (-4, 2), (2, 6) (8, 5) and (9, -
7). Show that the mid-points of the sides of the quadrilateral are the

vertices of a parallelogram.

° Watch Video Solution

31. Without using the distance formula, show that (- 2, - 1), (4, 0), (3, 3) and

(- 3,2) are the vertices of a parallelogram .


https://dl.doubtnut.com/l/_3OnL1bVXWUlB
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https://dl.doubtnut.com/l/_ku9vtJSiuogW
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o Watch Video Solution

32.If A (2,0), B (0, 2) and C (0,7) are three vertices, taken in order, of an
isosceles trapezium ABCD In which AB is parallel to DC. Obtain the co-

ordinates of D.

o Watch Video Solution

33.In the figure, time- distance graph of a linear relation is given :

Two positions

of time and distance recorded as: When T=0,D =2 and when T=3,D =8.


https://dl.doubtnut.com/l/_F6ZakDtcPWsM
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https://dl.doubtnut.com/l/_TYNf8kW83ZVl

Using the concept of slope, find the law of motion i.e. how distance

depends upon time.

° Watch Video Solution

34.Find the equation of the straight line, which is parallel to x-axis and 2

units above it.

° Watch Video Solution

35. Find the equation of the straight line, which is parallel to y-axis and 3

units to the right of it.

° Watch Video Solution

36. Find the equation of the line, which is parallel to y-axis and passing

through the point (3, - 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_TYNf8kW83ZVl
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37.Find the equation of the st. line passing through the point (4, 3) with

slope 2.

° Watch Video Solution

38. Find the equation of the straight line bisecting the segment joining
the points (5,3) and (4,4) and making an angle of 45° the positive

direction of X- axis .

° Watch Video Solution

39. Find the equation of the st. line passing through points (0,- 4) and (-6,

2).

° Watch Video Solution



https://dl.doubtnut.com/l/_ydP8idtHHKIH
https://dl.doubtnut.com/l/_Udt5royM6ar4
https://dl.doubtnut.com/l/_c83kkB8dRxjN
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40. Find the equations of the sides of the triangle whose vertices are (- 1,

8), (4,-2) and (- 5,- 3).

° Watch Video Solution

41. The perpendicular from the origin to a line meet at the point (-2, 9),

find the equation of the line.

° Watch Video Solution

42.A (-3,-1) and B (2, 2) are two adjacent vertices and O(3,0) is the point of
intersection of the diagonals of a parallelogram ABCD. Write down the

equations of the four sides of the parallelogram.

° Watch Video Solution



https://dl.doubtnut.com/l/_rcAnzJoz0ODg
https://dl.doubtnut.com/l/_T1i8GsIHuo1t
https://dl.doubtnut.com/l/_l48JtiOpSAJy

43. Show that the points (1, 4), (3, - 2) and (- 3,16) are collinear and find the

equation of the st. line an which they lie.

° Watch Video Solution

44. Find the equation of the st. line with slope 3 and y-intercept - 2.

° Watch Video Solution

45. Find the equation of a line through the origin, which makes an angle

of 45° with the positive direction of x-axis.

° Watch Video Solution

1
46. Write the equation of the line for which tanf = 7 where 0 is the
3
inclination of the line and y-intercept is — 7

° Watch Video Solution



https://dl.doubtnut.com/l/_SiDgMUeA88tx
https://dl.doubtnut.com/l/_RPzzfdW83j5Q
https://dl.doubtnut.com/l/_ZiEnDKjzdLEY
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1
47. Write the equation of the line for which tanf = 3 where 6 is the

inclination of the line and x-intercept is 4.

° Watch Video Solution

48. Find the equations of the lines passing through the point (2, 2) such

that the sum of their intercepts on the axes is 9.

° Watch Video Solution

49. Find the equations of the lines which cut off intercepts on the axes

whose sum and product are 1and -6 respectively.

° Watch Video Solution



https://dl.doubtnut.com/l/_1qlrVlQlaHkm
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50. Find the equation of the line through (2,3) so that the segment of the

line intercepted between the axes is bisected at this point

° Watch Video Solution

51. Find the perpendicular form of the equation of the lines from the
given values of p and o :

p=3 and a = 45°.

° Watch Video Solution

52. Find the perpendicular form of the equation of the lines from the
given values of p and o :

p=5and a = 135°.

° Watch Video Solution



https://dl.doubtnut.com/l/_4uAGIay4xfBF
https://dl.doubtnut.com/l/_dR1MHWuRpaNu
https://dl.doubtnut.com/l/_7wE9LqgyAjRD

53.If p is the length of perpendicular from the origin to the line whose

1 1 1
intercepts on the axes are a and b, then show that — = — + ﬁ

P a

° Watch Video Solution

54. Find the equation of a st. line, which passes through the point (-2,3)

and makes an angle of 60° with the positive direction of x-axis.

° Watch Video Solution

55.The length L (in centimetres) of a copper rod is a linear function of its
Celsius temperature C. In an experiment, if L = 124.942 when C=20and L =

125134 when C =110, express L in terms of C.

° Watch Video Solution



https://dl.doubtnut.com/l/_oqGUsYRLseuL
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https://dl.doubtnut.com/l/_KzNfhL22Q5Zx

56. Find the distance of the line 4x - y = 0 from the point P (4, 1) measured

along the line making an angle of 135° with the positive x-axis.

° Watch Video Solution

57.Find the equation of the st. line through (3, 4) and (2, -1).

° Watch Video Solution

58. Reduce the equation to v/3z + y + 1 = 0 to the form y = mx +c and
hence find the slope, the inclination to the x-axis and the intercept on the

y-axis.

° Watch Video Solution

59. Find the slope and y-intercept of the st. line 5x + 6y = 7.

° Watch Video Solution



https://dl.doubtnut.com/l/_th81aVv6LiRZ
https://dl.doubtnut.com/l/_lOLb39rjdNPY
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60. Reduce the equation 2x-7y+3= 0 to the intercept form and hence find

the intercepts on the axes.

° Watch Video Solution

61. Equation of a line is 3x- 4y+10=0. Find its : slope .

° Watch Video Solution

62. Equation of a line is 3x- 4y+10=0. Find its : x and y-intercepts.

° Watch Video Solution

63. Reduce the equation /3z + y — 8 = 0 into normal form and find :

length of the perpendicular from origin to the line.

° Watch Video Solution



https://dl.doubtnut.com/l/_AJMChalt29Wo
https://dl.doubtnut.com/l/_CO4qqTeP1qXR
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64. Reduce the equation /3z + y — 8 = 0 into normal form and find :

angle between the normal and positive x-axis.

° Watch Video Solution

65. Find the angle between the straight lines : y — /3z — 5 = 0 and

V3y—z+6=0.

° Watch Video Solution

66. Two lines Passing through the point (2, 3) make an angle of 45°. If the

slope of one of the lines is 2, find the slope of the other.

° Watch Video Solution

67. Determine the angle B of the triangle with vertices A (- 2, 1), B (2, 3)

and C (- 2,- 4).


https://dl.doubtnut.com/l/_nBGXjSCx9pkJ
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° Watch Video Solution

68. Find tha angle between the lines joining the points (0,0) (2,3) and

(2, —2),(3,5)

° Watch Video Solution

69.The line 7x-9y-19 = 0 is perpendicular to the line through the points (h,

3) and (4, 1). Find the value of h.

° Watch Video Solution

70. Find the equation of the st. line through the origin making angle of

60° with the st.line z + /3y + 3,/3 = 0.

° Watch Video Solution
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https://dl.doubtnut.com/l/_LUvnJEhhtZ2x
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71. Find the equation of a line passing through the point (0,1) and parallel

to:3z —2y+5=0.

° Watch Video Solution

72. Find the equation of line perpendicular to x - 2y +3=0 and passing

through the point (3,-2) .

° Watch Video Solution

73.Find the equation of the right bisector of the line segment joining the

points (3, 4) and (-1, 2).

° Watch Video Solution

74.Find the image of the point (3, 8) with respect to the line z + 3y = 7,

assuming line as a plane mirror.

| e |
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75. Assuming that straight line works as the plane mirror for a point, find

the image of the point (1, 2) in the line x-3y+4=0.

° Watch Video Solution

76. For the triangle ABC whose vertices are A (-2, 3), B (4, - 3) and C (6, 5),
find the equation of :

the perpendicular bisector of the side BC.

° Watch Video Solution

77. For the triangle ABC whose vertices are A (-2, 3), B (4, - 3) and C (6, 5),
find the equation of :

the altitude from A.

° Watch Video Solution



https://dl.doubtnut.com/l/_mS43QCDGbsYb
https://dl.doubtnut.com/l/_FkwbNLQtiWeV
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78. For the triangle ABC whose vertices are A (-2, 3), B (4, - 3) and C (4, 5),
find the equation of :

the st. line through A parallel to the opposite side BC.

° Watch Video Solution

79.Find the point of intersection of the st. lines x - 4y =3 and 6x - y=11.

° Watch Video Solution

80. If 3x-by+2=0 and 9x+3y+a=0 represent the same straight line, find the

values of a and b.

° Watch Video Solution

81. The sides of quadrilateral taken in order, are given by

3r +11ly—65=0,5x+y—39=0, —x+5y+ 13 =0 and 11z — 3y +


https://dl.doubtnut.com/l/_M8v1mptzfkuM
https://dl.doubtnut.com/l/_zIvMW8W3IEzp
https://dl.doubtnut.com/l/_mxkANFpVjR0B
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.Find the co-ordinates of the vertices of the quadrilateral.

° Watch Video Solution

82. Find the point of intersection of the medians of the triangle with

vertices at (- 1, 0), (5,- 2) and (8, 2).

° Watch Video Solution

8. Find the coordinates of the foot of perpendicular from a point (-1, 3)

to the line 3z — 4y — 16 = 0.

° Watch Video Solution

84.Find the centroid and incentre of the triangle whose vertices are (1, 2),

(2,3) and (3, 4).

° Watch Video Solution



https://dl.doubtnut.com/l/_XB4ToHqdqxY2
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85. The vertices of a triangle are (4, -3), (-2, 1) and (2, 3). Find the co-
ordinates of the circumcentre of the triangle. [Circumcentre is the point

of concurrence of the right-bisectors of the sides of a triangle.]

° Watch Video Solution

86. Show that the area of the triangle formed by the lines whose

(c1 — c2)”

equations are: y = mix + c1,y = max + c2 and x=0 is : ————.
2|my — my|

° Watch Video Solution

87. Prove that the three st. lines : 2x - 3y = 7, 3x -4y = 13 and 8x-11y = 33

meet in a point.

° Watch Video Solution



https://dl.doubtnut.com/l/_jI0Vw6ZL3LCF
https://dl.doubtnut.com/l/_BuMieFTku6AQ
https://dl.doubtnut.com/l/_jxOnkfIOSuVe

88. Show that the perpendicular bisectors of the sides of the triangle with
vertices (7, 2), (5, -2) and (- 1, 0) are concurrent. Also find the co-ordinates

of the point of concurrence (circumcentre).

° Watch Video Solution

89. Prove analytically that the altitudes of a triangle are concurrent.

° Watch Video Solution

90. The line-segment joining the mid-points of two sides of a triangle is

parallel to the third side and ............ of it.

° Watch Video Solution

91. The diagonals of a rectangle are of the equal length.

° Watch Video Solution



https://dl.doubtnut.com/l/_chkdLuBBUMWC
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92. The diagonals of a rhombus are perpendicular to each other.

° Watch Video Solution

93. Prove that the figure formed by joining the points of the adjacent

sides of a quadrilateral parallelogram.

° Watch Video Solution

94. Find the distance between two Parallel lines :

y=mz + ¢y and y = mzx + c.

° Watch Video Solution

95. Find the distance between two Parallel lines :

ax +by+c =0andax + by + ¢, = 0.

e l
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96. Find the distance between the st. line 4x + 3y- 5 =0 and the point (- 2, -

1).

o Watch Video Solution

97. Find the perpendicular distance of the point (b, a) from the st. line

2 _J_o1
a

b

o Watch Video Solution

98. Find the point on the x-axis, whose distances from the line

Y

+ 1 = 1 are 4 units.

r
3

o Watch Video Solution
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99. Show that the origin is equidistant from the three straight lines : 4x +

3y +10=0,5x - 12y + 26 =0 and 7x + 24y = 50.

° Watch Video Solution

100. Find the distance between the parallel lines

3r —4y+5=0and 3z —4y+7=0.

° Watch Video Solution

101. Prove that st. line 5x -2y - 1= 0 is mid-parailel to the st. lines : 5x - 2y -9

=0 and 5x-2y+7=0.

° Watch Video Solution

102. Two sides of a square lie on the lines x+y-1=0 and x+y+2 then its area

is:

| e |
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103. Prove that the parallelogram formed by the
Y
a

lines

:1,£+ 4 :2a,nd£—|—£:2isarhombus.
a b a

r v T
. Jd_1 2 g
a+b ’b+ b

° Watch Video Solution

104. Show that the path of a moving point such that its distance from the

lines : 3x- 2y = 5 and 3x + 2y =5 are equal, is a straight line.

° Watch Video Solution

105. Find the equations of the bisectors of the angles formed by the lines

3x-4y + 12 =0 and 4x + 3y + 2=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_QrPTRxJHIQkt
https://dl.doubtnut.com/l/_TK4Unj806LzN
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106. Find the equations of the bisectors of the angles, between the lines

through (0O, O) with slopes 1and 2.

° Watch Video Solution

107. Find the equations of the bisectors of the internal angles of the
triangle whose sides are

32 +4y—6=0,12z — 5y — 3= 0,4z — 3y + 12 = 0.

° Watch Video Solution

108. Find the equations of the bisectors of the interior angles of the
triangle whose vertices are A (0, 0) , B (4, 0) and C (0, 3) and prove that

they are concurrent.

° Watch Video Solution



https://dl.doubtnut.com/l/_3AsqMeaXL7LM
https://dl.doubtnut.com/l/_SkxHB9K7DsJw
https://dl.doubtnut.com/l/_CtvhfLcYqp1l

109. Find the new co-ordinates of the points :

(1,7) when the origin is shifted to the point (-3, -2) by translation of axes.

° Watch Video Solution

110. Find the new co-ordinates of the points :

(5,0) when the origin is shifted to the point (-3, -2) by translation of axes.

° Watch Video Solution

111. Find the new co-ordinates of the points :

(-2,1) when the origin is shifted to the point (-3, -2) by translation of axes.

° Watch Video Solution

M2. Find the transformed equation of the curve

22 4+ y> + 4z — 6y + 16 = 0 when the origin is shifted to the point


https://dl.doubtnut.com/l/_WXJqFM6u2cyK
https://dl.doubtnut.com/l/_JS3lbltMvw2f
https://dl.doubtnut.com/l/_WGmiVbF1XPMm
https://dl.doubtnut.com/l/_Z32FeFLcP2q2

(-2,3).

° Watch Video Solution

113. On shifting the origin to the point (1, -1), the axes remaining parallel
to the original axes the equation of a curve becomes

42® + y® + 3z — 4y + 2 = 0.Find its original equation.

° Watch Video Solution

114. Find the point to which the origin should be shifted so that the

equation : y> — 6y — 4z + 13 = 0 is transformed to form: 3* + Az = 0.

° Watch Video Solution

115. Prove that the slope of a straight line is invariant under the

translation of axes.

° Watch Video Solution



https://dl.doubtnut.com/l/_Z32FeFLcP2q2
https://dl.doubtnut.com/l/_yUr47jbpl6V2
https://dl.doubtnut.com/l/_6TEvJq8kxOpC
https://dl.doubtnut.com/l/_dFcUXZwLVX6e

116. Write the equations for the family of lines with slope 3.

° Watch Video Solution

117. Write the equations for the family of lines with x-intercept 2.

° Watch Video Solution

118. Write the equations for the family of lines perpendicular to 2x-5y- 6 =

0.

° Watch Video Solution

119. Find the equation of the line passing through the point of

intersection of x + 2y =5 and x - 3y = 7, and passing through the point : (O,

-1).

| e |


https://dl.doubtnut.com/l/_dFcUXZwLVX6e
https://dl.doubtnut.com/l/_iqe1bbYcLG80
https://dl.doubtnut.com/l/_74C4sUDOahgq
https://dl.doubtnut.com/l/_apYjfgNcDdlS
https://dl.doubtnut.com/l/_GqhjWPCxvOdG

I & Watch Video Solution ]

120. Find the equation of the line passing through the point of
intersection of x + 2y =5 and x - 3y = 7, and passing through the point : (2,

-3).

° Watch Video Solution

121. Find the equation of the line passing through the intersection of the

lines x+2y-3=0 and 4x-y+7=0 and which is parallel to 5x+4y-20=0.

° Watch Video Solution

122. Find the equation of the line passing through the intersection of the

lines 2x+3y-4=0 and x-5y+7=0 that has its x-intercept equal to -4.

° Watch Video Solution



https://dl.doubtnut.com/l/_GqhjWPCxvOdG
https://dl.doubtnut.com/l/_tdTd4yPQzDBm
https://dl.doubtnut.com/l/_MOlKuidRt4UT
https://dl.doubtnut.com/l/_xftmv086wH5d

1. What is the slope of the line whose inclination is :

0°?

° Watch Video Solution

2. What is the slope of the line whose inclination is :

60° ?

° Watch Video Solution

3. What is the slope of the line whose inclination is :

45° ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oUtON7uj7okJ
https://dl.doubtnut.com/l/_4MRu3lKF8Rnf
https://dl.doubtnut.com/l/_0Mec2pJjvuwo

4. What is the slope of the line whose inclination is :

90° ?

° Watch Video Solution

5. What is the slope of the line whose inclination is :

120° ?

° Watch Video Solution

6. What is the slope of the line whose inclination is :

150° ?

° Watch Video Solution

7. Find the slope of the line, which makes an angle of 30° with the

positive direction of y-axis, measured anticlockwise.

| e |


https://dl.doubtnut.com/l/_y5g7FfjdFPBy
https://dl.doubtnut.com/l/_elSGXm8MPmEA
https://dl.doubtnut.com/l/_hDLUODQDJWyv
https://dl.doubtnut.com/l/_whZJ6KDgKr52

| & Watch Video Solution

8. Find the inclination of the line whose slope is :

1.

o Watch Video Solution

9. Find the inclination of the line whose slope is :
1

i

o Watch Video Solution

10. Find the inclination of the line whose slope is :

3.

o Watch Video Solution



https://dl.doubtnut.com/l/_whZJ6KDgKr52
https://dl.doubtnut.com/l/_keUGourfBkIN
https://dl.doubtnut.com/l/_dW9sRO4fKYvq
https://dl.doubtnut.com/l/_WVMXVACKR7TF

11. Find the inclination of the line whose slope is :

0.

o Watch Video Solution

12. Find the angle between x-axis and the line joining the points (3,-1) and

(4,-2).

o Watch Video Solution

13. Find the slope of the line through the points :

(1,2), (4, 2).

o Watch Video Solution

14. Find the slope of the line through the points :

(0,-4),(-6,2).



https://dl.doubtnut.com/l/_ykfJHCtMtL2a
https://dl.doubtnut.com/l/_j07dlECMFuYF
https://dl.doubtnut.com/l/_kZorcjjLU6zr
https://dl.doubtnut.com/l/_VzTItHTG0QEi

| & Watch Video Solution

15. Find the slope of the line through the points (4, — 6)( — 2, — 5)

o Watch Video Solution

16. Find the slope of the line through the points :

(4,6),(2,12)

o Watch Video Solution

17. Find the slope of the line through the points :

(3’ -2)’ (3’ 4)°

o Watch Video Solution



https://dl.doubtnut.com/l/_VzTItHTG0QEi
https://dl.doubtnut.com/l/_xnoceH9sckaF
https://dl.doubtnut.com/l/_cFuYzKeEoqGi
https://dl.doubtnut.com/l/_toZIlBbXoCiQ

18. Find the slope of a line, whch passes through the origin and the mid-

point of the line segment joining the points P(0, -4) and B(8, 0).

° Watch Video Solution

-2
19. What acute angle does a line of slope =5 make with a vertical line ?

° Watch Video Solution

20. Show that the line joining the points (2, —3) and ( —5,1) is

parallel to the line joining (7, — 1) and (0,3)

° Watch Video Solution

21. Show that the line joining (2, -3) and (- 5,1) is :

perpendicular to the line joining (4, 5) and (0, - 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_MLtsOn2YpaaR
https://dl.doubtnut.com/l/_iGpYezONXgFl
https://dl.doubtnut.com/l/_utBERHOwgKdS
https://dl.doubtnut.com/l/_Uh5OetPlz9hK

22.Three points P (h, k), Q(z1, y1) and R (3, yo) lie on a line. Show that :

(h —z1)(y2 —v1) = (k — y1)(z2 — z1).

° Watch Video Solution

23.Show that the line :

through (0O, 0) and (2, 3) is parallel to the line through (2, 2) and (4, 5) .

° Watch Video Solution

24.Show that the line :
through (- 2, 6) and (4, 8) is perpendicular to the line through (8, 12) and

(4, 24).

° Watch Video Solution



https://dl.doubtnut.com/l/_Uh5OetPlz9hK
https://dl.doubtnut.com/l/_SOPFEHHlND5N
https://dl.doubtnut.com/l/_N02vk3SJ1pK3
https://dl.doubtnut.com/l/_UMchVzYPXVbh

25.Show that the line :
through (2, - 3) and (-1, 2) is perpendicular to the line joining (3, 7) and (- 2,

4).

° Watch Video Solution

26. State whether the two lines of the following problem is parallel,
perpendicular or neither parallel nor perpendicular :

Through (8, 2) and (-5, 3), through (16, 6) and (3, 15)

° Watch Video Solution

27. State whether the two lines of the following problem is parallel,
perpendicular or neither parallel nor perpendicular :

Through (9, 5) and (-1, 1), through (8, - 3) and (3, - 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_cmEN5uJIN21m
https://dl.doubtnut.com/l/_ZLkCXbHbjrUW
https://dl.doubtnut.com/l/_s7SNXu6VWntW
https://dl.doubtnut.com/l/_4loxLbkdakrL

28. State whether the two lines of the following problem is parallel,
perpendicular or neither parallel nor perpendicular :

Through (- 2, 6) and (4, 8), through (8, 12) and (4, 24).

° Watch Video Solution

29. What is the value of y so that the line through (3,y) and (2,7) is parallel

to the line through ( — 1, 4) and (0, 6) ?

° Watch Video Solution

30. Without using the pythagorus, show that the points (4, 4), (3, 5) and

(-1,-1) are the vertices of a right angled triangle.

° Watch Video Solution

31. Find the values of x for which the points (x, -1), (2, 1) and (4, 5) are

collinear.


https://dl.doubtnut.com/l/_4loxLbkdakrL
https://dl.doubtnut.com/l/_sOSrHc3JfKJ6
https://dl.doubtnut.com/l/_gypARf8JRoNM
https://dl.doubtnut.com/l/_6oS2Lo4kJGVy

° Watch Video Solution

32. If three points A(h,0), B(a, b) and C(0, k) lie on line, show that

a
221
AR

° Watch Video Solution

33.If points (a, 0), (O, b) and (x, y) are collinear, then write correct answer

from the following :

° Watch Video Solution

34.Find the equation of the line, which is parallel to x-axis at a distance of

4 units above it.

° Watch Video Solution



https://dl.doubtnut.com/l/_6oS2Lo4kJGVy
https://dl.doubtnut.com/l/_lc6MgXxbp1XS
https://dl.doubtnut.com/l/_g04E0OTpdbmE
https://dl.doubtnut.com/l/_s6bSyKWDlMyB
https://dl.doubtnut.com/l/_WJRCbntbT0Ue

35. Draw the graph of the equations represented by a straight line which

is parallel to the x-axis and at a distance of 3 units below it.

° Watch Video Solution

36. Find the equation of the line, which is parallel to y-axis at a distance of

2 units to the right of it.

° Watch Video Solution

37.Find the equation of the line, which is parallel to y-axis at a distance of

4 units to the left of it.

° Watch Video Solution



https://dl.doubtnut.com/l/_WJRCbntbT0Ue
https://dl.doubtnut.com/l/_AmjVfeaF1ZXA
https://dl.doubtnut.com/l/_z3XNNODPyvW7

38.Find the equation of the line parallel to x-axis and :

passing through the point (3, -4).

° Watch Video Solution

39. Write the equation of the line which is parallel to x-axis and passing
through

(0,2)

° Watch Video Solution

40. Find the equation of the line parallel to x-axis and :

has Intercept on the y-axis as -2.

° Watch Video Solution



https://dl.doubtnut.com/l/_CMomfWTKoSLK
https://dl.doubtnut.com/l/_k5V5rZ09ZmAc
https://dl.doubtnut.com/l/_eIbXxxQt90rR

41. Find the equations of the lines parallel to axes and passing through

(-2, 3).

° Watch Video Solution

42. Find the equation of the line perpendicular to the x-axis and :

passing through the origin.

° Watch Video Solution

43. Find the equation of the line perpendicular to the x-axis and :

passing through the point (- 1, -1).

° Watch Video Solution

44.Find the equation of the line perpendicular to the x-axis and :

1
passing through the point ( -3, 5).

| 1


https://dl.doubtnut.com/l/_jzcpZY84y3Fy
https://dl.doubtnut.com/l/_eyN7ZUeQQ6Bo
https://dl.doubtnut.com/l/_lGbAXS8jjrDP
https://dl.doubtnut.com/l/_tm40rt4K3FSz

l ) Watch Video Solution

45.Find the equation of the straight line perpendicular to y-axis and :

passing through the origin.

o Watch Video Solution

46. Find the equation of the straight line perpendicular to y-axis and :

passing through the point (- 2, -3).

o Watch Video Solution

47.Find the value of k for which the line
(k—3)z— (4—K)y+k*—Tk+6=0.

(a) parallel to x-axis (b) parallel to y-axis.

o Watch Video Solution



https://dl.doubtnut.com/l/_tm40rt4K3FSz
https://dl.doubtnut.com/l/_Xe2cc4cRPo5A
https://dl.doubtnut.com/l/_36IKFK0HYJjE
https://dl.doubtnut.com/l/_nx7XdD1TNFJL
https://dl.doubtnut.com/l/_hjp3SbCcJtrU

48. Find the value of k for which the line
(k—3)z— (4—K)y+k*—Tk+6=0.

(a) parallel to x-axis (b) parallel to y-axis.

o Watch Video Solution

49, Find the values of k for which the
(k—3)z— (4—K)y+ k> —Tk+6=0is

passing through the origin.

line

o Watch Video Solution

50. Find the equation of the st. line of the following problem :

4
Through the point (-1- 2) with slope 7

o Watch Video Solution



https://dl.doubtnut.com/l/_hjp3SbCcJtrU
https://dl.doubtnut.com/l/_c3Ut1CUJ8Giv
https://dl.doubtnut.com/l/_F5kMu8sN2w6Q

51. Find the equation of the st. line of the following problem :

Through the point (- 2, 3) with slope -4 .

° Watch Video Solution

52. Find the equation of the line which satisfying the given conditions:

1
passing through the point (-4, 3) with slope 7

° Watch Video Solution

53. Find the equation of the st. line of the following problem :

2
Through the point (\/ﬁ, 2\/5) with slope 3

° Watch Video Solution

54. Find the equation of the line which satisfying the given conditions:

passing through (2, 2\/5) and inclined with the x-axis at an angle of 75°.

| e


https://dl.doubtnut.com/l/_dTXrGdvrHDN5
https://dl.doubtnut.com/l/_DEgSLwHlO8fx
https://dl.doubtnut.com/l/_FmiudtcqRwIg
https://dl.doubtnut.com/l/_kCDvD7ClKoj1

l &J Watch Video Solution J

55. Find the equation of the line, which intersects :

the x-axis at a distance of 3 units to the left of origin with slope -2.

° Watch Video Solution

56. Find the equation of the line which satisfying the given conditions:
intersecting the y-axis at a distance of 2 units above the origin and

making an angle of 30° with positive direction of the x-axis.

° Watch Video Solution

57. Show that the st. line, which passes through the point (4,12) and

makes an angle tan~! 3 with the x-axis passes through the origin.

° Watch Video Solution



https://dl.doubtnut.com/l/_kCDvD7ClKoj1
https://dl.doubtnut.com/l/_Lkq15MNYwoxD
https://dl.doubtnut.com/l/_2buzkiKAScCQ
https://dl.doubtnut.com/l/_GVZnyjuCS43v
https://dl.doubtnut.com/l/_8oMZ4gxzENNx

58. Find the equation of the st. line passing through points :

(2,3) and (5,-2).

o Watch Video Solution

59. Find the equation of the st. line passing through points :

(1,-1) and (3,5).

o Watch Video Solution

60. Find the equation of the st. line passing through points :

(-1,-2) and (-5,-2).

o Watch Video Solution

61. Find the equation of the line passing through the point (-1,1) and (2,4).

o Watch Video Solution



https://dl.doubtnut.com/l/_8oMZ4gxzENNx
https://dl.doubtnut.com/l/_FZzHPygT5juU
https://dl.doubtnut.com/l/_enStLUDSrlLT
https://dl.doubtnut.com/l/_T32NMVhaW2Ih

62. Find the equation of the st. line passing through points :

(0,-3) and (5,0).

° Watch Video Solution

63. The vertices of a triangle PQR are P(2, 1), Q (-2,3) and R (4, 5). Find the

equation of the median through the vertexR.

° Watch Video Solution

64.The vertices of a triangle PQR are P(2, 1), Q (-2,3) and R (4, 5). Find the

equation of the median through the vertexR.

° Watch Video Solution

65.Be using the concept of equation of a line prove that the three points

(3,0),(-2,-2) and (8, 2) are collinear.

| e |


https://dl.doubtnut.com/l/_BO7ZP92mpgl1
https://dl.doubtnut.com/l/_NkPo2NBSqi8s
https://dl.doubtnut.com/l/_41wbDHsq8UpJ
https://dl.doubtnut.com/l/_wfweLE2cAxjl

I & Watch Video Solution

66. Show that the points (at?, 2at; ), (at3, 2aty)and (a,0) are collinear if

tity = — 1.

° Watch Video Solution

67. Find the equations of the straight lines which pass through the origin
and trisect the portion of the st. line % + % = 1, which is intercepted

between the axis.

° Watch Video Solution

68. A line passing through the point (3, 0) makes an angle 30° with the
positive direction of x-axis. If this line is rotated through an angie of 15°

in clockwise direction, find its equation in new position.

° Watch Video Solution



https://dl.doubtnut.com/l/_wfweLE2cAxjl
https://dl.doubtnut.com/l/_iPH0bGx7jSIb
https://dl.doubtnut.com/l/_4pXohamDWnpK
https://dl.doubtnut.com/l/_LIKyKE4tOlcN

69. The mid-points of the sides of a triangle are (2,1), (-5,7), (-5, -5). Find the

equations of the sides.

° Watch Video Solution

70. Find the equation of the st. line :

with slope 5 and y-intercept = 5.

° Watch Video Solution

71. Find the equation of the st. line:

with slope 3 and y-intercept =-4 .

° Watch Video Solution

72.Find the equation of the st. line :

1
with slope 3 and y-intercept =-5.

| e |


https://dl.doubtnut.com/l/_rmoR8i6jIh0t
https://dl.doubtnut.com/l/_Nhmnarz9UZ6s
https://dl.doubtnut.com/l/_BNpzkTDJXl2Z
https://dl.doubtnut.com/l/_6O6nO9xArXAz

| & Watch Video Solution I

73.Find the equation of the st. line :

with slope 3 and y-intercept = - 2.

o Watch Video Solution

74.Find the equation of the line, which makes intercepts -3 and 2 on the x

and y-axis respectively.

o Watch Video Solution

75. Find the equations of the bisectors of the angle between the

coordinate axes.

o Watch Video Solution



https://dl.doubtnut.com/l/_6O6nO9xArXAz
https://dl.doubtnut.com/l/_2QzAJeANwNIr
https://dl.doubtnut.com/l/_Qf58OxBHpZjL
https://dl.doubtnut.com/l/_i8cgNFn4PBUx

76. Find the equation of the line, which cuts off intercept 4 on the x-axis

and makes an angle 60° with positive direction of the x-axis.

° Watch Video Solution

77.Find the equation of the st. line, which passes through the point (0, 1)

and has an inclination of 60°.

° Watch Video Solution

78.Find the equation of the straight line, which passes through (2,2) and

is inclined to x-axis at 45°.

° Watch Video Solution

79.Find the equation of the line, which intersects :

the x-axis at a distance of 3 units to the left of origin with slope -2.

| e |


https://dl.doubtnut.com/l/_6aKDPudVDgbv
https://dl.doubtnut.com/l/_HjEJLhmUTQaF
https://dl.doubtnut.com/l/_Du0hptg910Ah
https://dl.doubtnut.com/l/_JCgntN8AwUeu

I & Watch Video Solution

80. Find the equation of the line which satisfying the given conditions:
intersecting the y-axis at a distance of 2 units above the origin and

making an angle of 30° with positive direction of the x-axis.

° Watch Video Solution

81. Find the equation of a straight line cutting off an intercept -2 from the

y-axis and being equally inclined to the axes.

° Watch Video Solution

82. Find the equation of a line that cuts off equal intercepts on the co-

ordinate axes and passes through the point (5, 6).

° Watch Video Solution



https://dl.doubtnut.com/l/_JCgntN8AwUeu
https://dl.doubtnut.com/l/_OscH7WzbwQ8R
https://dl.doubtnut.com/l/_wmhiSqhXusGF
https://dl.doubtnut.com/l/_CZ2gCbabrP0n
https://dl.doubtnut.com/l/_nEgIhORjfdFv

8. Find the equation of a line that cuts off equal intercepts on the co-

ordinate axes and passes through (2, 3).

° Watch Video Solution

84. Find the st. lines through (5,3), which cut the axes so that the

intercepts are equal in magnitude.

° Watch Video Solution

85. Obtain the perpendicular form of the equation of st. lines from the

given valuesof pand a:p = 5,a = 30° .

° Watch Video Solution

86. Obtain the perpendicular form of the equation of st. lines from the

given valuesofpanda:p=1,a = 90° .

° Watch Video Solution



https://dl.doubtnut.com/l/_nEgIhORjfdFv
https://dl.doubtnut.com/l/_M44IicwBe5Z7
https://dl.doubtnut.com/l/_hFXkjhKy2Ny1
https://dl.doubtnut.com/l/_3UbZ14u6ghIH

87. Obtain the perpendicular form of the equation of st. lines from the

given valuesof panda:p =4,a = 15° .

° Watch Video Solution

88. Find the equation of the line through (-2,1) in symmetrical form when

the angle made by the line with positive direction of x-axis is 45° .

° Watch Video Solution

89. Find the equations of the st. lines, which pass through the point (3, 4)
and have intercepts on the axes :

equal in magnitude but opposite in sign .

° Watch Video Solution



https://dl.doubtnut.com/l/_3UbZ14u6ghIH
https://dl.doubtnut.com/l/_uyZrAG1kpMVK
https://dl.doubtnut.com/l/_tI2MIupYxqPc
https://dl.doubtnut.com/l/_lLhT1cZmq4qt

90. Find the equations of the st. lines, which pass through the point (3, 4)
and have intercepts on the axes :

such that their sum is 14.

° Watch Video Solution

91. P (a, b) is the mid-point of a line segment between axes. Show that

equation of the line is % + % = 2.

° Watch Video Solution

92. Find the equation of the straight line, which passes through the point
(1, 4) and is such that the segment of the line intercepted between the

axes is divided by the point in the ratio 1: 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_I6GRgfyqMCnL
https://dl.doubtnut.com/l/_bOrCb74nzQmy
https://dl.doubtnut.com/l/_7L8NYGeClzHT

93. Point R (h,k) divides a line segment between the axes in the ratio 1: 2.

Find the equation of the line.

° Watch Video Solution

3
94. Find the equation of the straight line for which: p = 2, cosa = 5

° Watch Video Solution

95. Find the equation of the st. line, which has length of perpendicular
segment from the origin to the line 4 units and the inclination of the

perpendicular segment with the positive direction of x-axis is 30° .

° Watch Video Solution

96. The perpendicluar distance of a st. line from the origin is 5cm and its

slope is -1. Find the equation of the st. line .

| e |


https://dl.doubtnut.com/l/_MSHRNmj9UAgd
https://dl.doubtnut.com/l/_lAebqUqzgLVN
https://dl.doubtnut.com/l/_IO3aDtuavZss
https://dl.doubtnut.com/l/_S1bGm9k9XhM4

I & Watch Video Solution

97. Find the equation of a st. line through the point A (3, 4) and is inclined

3
to the x-axis at an angle of R Find also the co-ordinates of two points

on it on opposite sides of A at a distance /2 from it .

° Watch Video Solution

m
6

with positive direction of the x-axis. If meets the st. line

98. A st. line is drawn through the point P(\/g, 2) making an angle of

3z — 4y + 8 = 0in Q, find the length of [PQ].

° Watch Video Solution

99. Find the distance of the line 4x+7y+5 = O from the point (1, 2) along

the line 2x-y=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_S1bGm9k9XhM4
https://dl.doubtnut.com/l/_ILagic5iAlak
https://dl.doubtnut.com/l/_XXOaZKAp5WZT
https://dl.doubtnut.com/l/_MxUebXrZLtGM

100. Find the equation of the straight line bisecting the segment joining
the points (5,3) and (4,4) and making an angle of 45° the positive

direction of X- axis .

° Watch Video Solution

101. Find the locus of middle points of the variable line
x cosa + ysina — p = 0 intercepted by the axes given that p remains

constant .

° Watch Video Solution



https://dl.doubtnut.com/l/_3dgvC1tzD4cn
https://dl.doubtnut.com/l/_DyqSDsVPc0Nd

102. Consider the following Population-Year Graph :

Find the
slope of the line AB and using it, find what will be the population in the

year 2010 ?

o Watch Video Solution

103. The owner of a milk store finds that, he can sell 980 litres of milk each
week at Rs. 14/litre and 1220 litres of milk each week at Rs.16/litre.
Assuming linear relationship between selling price and demand, how

many litres could he sell weekly at Rs. 17/litre?


https://dl.doubtnut.com/l/_VLQJhXHCvegl
https://dl.doubtnut.com/l/_I843anSYHR6I

° Watch Video Solution

104. The Fahrenheit temperature F and absolute temperature K satisfy a
linear equation. Given that K = 273 when F = 32 and that K = 373 when F=

212. Express K in terms of F and find the value of F, when K=0.

° Watch Video Solution

105. Find the equation of the straight line through two points :

(0, 2) and (0,4).

° Watch Video Solution

106. Find the equation of the straight line through two points :

(2,6) and (2, 5).

° Watch Video Solution



https://dl.doubtnut.com/l/_I843anSYHR6I
https://dl.doubtnut.com/l/_NoZ0onAO6DfL
https://dl.doubtnut.com/l/_zc9SAde6Tipi
https://dl.doubtnut.com/l/_pGnzbP32RUzu
https://dl.doubtnut.com/l/_rtZZVjjgip7V

107. Reduce the following into slope-intercept form and find their slopes
and y-intercepts :

y=0.

° Watch Video Solution

108. Reduce the following into slope-intercept form and find their slopes
and y-intercepts :

x+ Ty =0.

° Watch Video Solution

109. Reduce the following into slope-intercept form and find their slopes
and y-intercepts :

3z + 3y = 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_rtZZVjjgip7V
https://dl.doubtnut.com/l/_Xdu7frHCkzP7
https://dl.doubtnut.com/l/_HGRZfeFIvHLQ

110. Reduce the following into slope-intercept form and find their slopes
and y-intercepts :

Tx+3y—6=0.

° Watch Video Solution

111. Reduce the following into slope-intercept form and find their slopes
and y-intercepts :

2c —4y =5.

° Watch Video Solution

112. Reduce the following into slope-intercept form and find their slopes
and y-intercepts :

6z +3y—5=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_KAatnUvKQ6cf
https://dl.doubtnut.com/l/_CWKSmibYKvXz
https://dl.doubtnut.com/l/_bnflPP4Qtuw4
https://dl.doubtnut.com/l/_QcrnzzyG51cK

113. Find the slope and y-intercept of the st. line of the following :

x+y=0.

o Watch Video Solution

114. Find the slope and y-intercept of the st. line of the following :

y+2=0.

o Watch Video Solution

115. Find the slope and y-intercept of the st. line of the following :

Y _o
X

o Watch Video Solution

116. Find the slope and y-intercept of the st. line 5x + 6y = 7.

o Watch Video Solution



https://dl.doubtnut.com/l/_QcrnzzyG51cK
https://dl.doubtnut.com/l/_HjmaVRy6vHiN
https://dl.doubtnut.com/l/_Pu5D89CqApOT
https://dl.doubtnut.com/l/_JqLark2U5CAp

117. Reduce the following equations into intercept form and find their
intercepts on the axes.

3z +2y—12=0

° Watch Video Solution

118. Reduce the following equations into intercept form and find their
intercepts on the axes.

dr — 3y =6

° Watch Video Solution

119. Reduce the equation z + 2y = 3 to the intercept form.

° Watch Video Solution



https://dl.doubtnut.com/l/_csDlR7e2rnVm
https://dl.doubtnut.com/l/_zIDADPaqmOib
https://dl.doubtnut.com/l/_WQBlCT6Y2Zen

120. Find the inclination to the x-axis of the lines :

V3Tt —y+2=0.

° Watch Video Solution

121. Find the inclination to the x-axis of the lines :

rcosa + ysina = p.

° Watch Video Solution

122. Find the intercepts on the axes made by the straight lines :

2r —3y+ 6 = 0.

° Watch Video Solution

123. Find the intercepts on the axes made by the straight lines :

x cosa + ysina = sin 2a.



https://dl.doubtnut.com/l/_yRW35mCgnBlm
https://dl.doubtnut.com/l/_9BBlrZvupj8X
https://dl.doubtnut.com/l/_XsaK5aRehU3p
https://dl.doubtnut.com/l/_va1yHcft9q2m

| & Watch Video Solution I

124. Show that the equation lz + my = 1(I # 0, m # 0) represents a

straight line.

° Watch Video Solution

125. The slope of line which cuts off intercepts of equal lengths on the

axis is:

° Watch Video Solution

126. Find the slope of a straight line, which cuts off from the axes :

intercepts equal in magnitude but opposite in sign.

° Watch Video Solution



https://dl.doubtnut.com/l/_va1yHcft9q2m
https://dl.doubtnut.com/l/_NTvCPRQlL27s
https://dl.doubtnut.com/l/_dUWthdfaw8wq
https://dl.doubtnut.com/l/_0KIhGdBiOYhR

127. Reduce the following to the perpendicular form and find p :

x+y—2=0.

° Watch Video Solution

128. Reduce the following to the perpendicular form and find p :

4z + 3y — 9 = 0.

° Watch Video Solution

129. Reduce the following to the perpendicular form and find p :

z—4=0.

° Watch Video Solution

130. Reduce the following to the perpendicular form and find p :

V3z +y—8=0.

| e


https://dl.doubtnut.com/l/_oNZLt1qJrKIx
https://dl.doubtnut.com/l/_Jz9ke5M7F7Wu
https://dl.doubtnut.com/l/_mDJgMW7qyGiW
https://dl.doubtnut.com/l/_mA6g6yAGWlod

I & Watch Video Solution

131. Reduce the following to the perpendicular form and find p :

3r —4y+10=0.

° Watch Video Solution

132. Reduce the following to the normal form. Find their perpendicular-
distances from the origin and angle between perpendicular and the
positive x-axis.

x—y=4

° Watch Video Solution

133. Reduce the following to the normal form. Find their perpendicular-
distances from the origin and angle between perpendicular and the
positive x-axis.

y—2=0.


https://dl.doubtnut.com/l/_mA6g6yAGWlod
https://dl.doubtnut.com/l/_DNo7HE8QXPPz
https://dl.doubtnut.com/l/_yqOxTtWD8H1w
https://dl.doubtnut.com/l/_HY4dqflYdanV

o Watch Video Solution

134. Reduce the following equations into the normal form. Find their
perpendicular distance from the origin and angle between perpendicular

and positive direction of x-axis.

(i)r —By+8=0 (i) —y=4

o Watch Video Solution

135. Find the values of 6 and p, if the equation z cos § + ysinf = pis the

normal form of the line \/3z + y + 2 = 0.

o Watch Video Solution

136. A line forms a triangle with co-ordinate axes. If the area of this
triangle is 54,/3 square units and the perpendicular drawn from the
origin to the line makes an angle of 60° with the x-axis, find the equation

of the line.


https://dl.doubtnut.com/l/_HY4dqflYdanV
https://dl.doubtnut.com/l/_D1lzvuHW0u53
https://dl.doubtnut.com/l/_G4Kuz9Oi4VPb
https://dl.doubtnut.com/l/_YqUw8IEhLy4i

° Watch Video Solution

137. Write the slope of the st. line, which is perpendicular to x + 2y= 4.

° Watch Video Solution

138. Find the acute angles between the st. lines :

2 —y+3=0andz+y—2=0.

° Watch Video Solution

139. Find the acute angles between the st. lines :

y—3xr—5=0and3y—z+6=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_YqUw8IEhLy4i
https://dl.doubtnut.com/l/_zGYIHPYjhLbo
https://dl.doubtnut.com/l/_9gW79mbLxsFV
https://dl.doubtnut.com/l/_51zagSdqvTYb

140. Find the acute angles between the st. lines :

V3r +y=1landz + /3y =L

° Watch Video Solution

141. Find the acute angles between the st. lines :

y— 43z —5=0and3y—z +6=0.

° Watch Video Solution

142. Find the tangent of the angle between the lines whose intercepts on

the axes are respectively, p,-q and q, -p.

° Watch Video Solution

143. Prove that the angle between the st. lines

(a+bzx+(a—by=2ab and (a—>b)z+ (a+by=2ab is



https://dl.doubtnut.com/l/_C2kf1FWjnQ3i
https://dl.doubtnut.com/l/_bIlQvXBLicrn
https://dl.doubtnut.com/l/_hqEsMz6mNnMM
https://dl.doubtnut.com/l/_OZZ1vrms3UjF

° Watch Video Solution

144. Find the measure of the angle A of the A ABC with vertices A (2,

3), B (-2, 2) and C(O, 2).

° Watch Video Solution

145. The line through (4, 3) and (- 6,0) intersects the line 5x + y = 0. Find

the angles of intersection.

° Watch Video Solution

1
146. The angle between two lins is % and the slope of one of them is 3

Find the slope of the other line

° Watch Video Solution



https://dl.doubtnut.com/l/_OZZ1vrms3UjF
https://dl.doubtnut.com/l/_ikgUV42OFo15
https://dl.doubtnut.com/l/_MiCCQNb51vd8
https://dl.doubtnut.com/l/_tRgMddjmgOgd
https://dl.doubtnut.com/l/_2U26kiqtpV4I

147.The slope of a line is double of the slope of another line. If tangent of

1
the angle between them is 3’ find the slopes of the line.

° Watch Video Solution

148. Find the angle between the diagonals of parallelogram ABCD whose

vertices are A (0, 2),B (2,-1),C(4,0) and D (2, 3).

° Watch Video Solution

149. Find the equation of the st. line joining the points (3, -1) and (2, 3).
Also find the equation of another st. line perpendicular to this st. line and

passing through (5, 2).

° Watch Video Solution



https://dl.doubtnut.com/l/_2U26kiqtpV4I
https://dl.doubtnut.com/l/_csHw7B1YVyvt
https://dl.doubtnut.com/l/_qR12XshDSsTh

150. Find the equations of the st. lines which pass through (4, 5) and

make angle 45° with the st. line 2x +y + 1=0.

° Watch Video Solution

151. Find the equations of the lines, which pass through the point (4, 5)

and make equal angles with the lines 5x -12y + 6 =0 and 3x =4y + 7.

° Watch Video Solution

152. Find the equations of the lines through the point (3, 2) which make

acute angle 45° with the line x -2y = 3.

° Watch Video Solution

153. Find the equation of the st. line that has y-intercept 4 and is parallel

to thest.line2z — 3y = 7.

| e |


https://dl.doubtnut.com/l/_8N50ItPMtUb1
https://dl.doubtnut.com/l/_t2yUN70I7NFK
https://dl.doubtnut.com/l/_kE70x1c8yq6T
https://dl.doubtnut.com/l/_Ve4bJQ0hr7eL

| & Watch Video Solution I

154. Find the equation of a line that has x-intercept 3 and perpendicular

to the linex-7y +5=0.

o Watch Video Solution

155. Find the equation of the lines through (- 2,-1) and are : parallel to line

x=0.

o Watch Video Solution

156. Find the equation of the lines through (- 2, -1) and are : perpendicular

to the line y =x.

o Watch Video Solution



https://dl.doubtnut.com/l/_Ve4bJQ0hr7eL
https://dl.doubtnut.com/l/_UVfvmIsqfzhw
https://dl.doubtnut.com/l/_6mTbZisZ8ZSv
https://dl.doubtnut.com/l/_UCY5gKSGSJnh

157. Find the equation of a line through the point (-2,3) and parallel to the

line 3x-4y+2=0.

° Watch Video Solution

158. Find the equation of the line parallel to the line 3x- 4y + 2 = 0 and

passing through the point (- 2, 5).

° Watch Video Solution

159. Find the equation of the line perpendicular to the line x -2y + 3 =0

and having intercept 3 on x-axis.

° Watch Video Solution

160. Find the equation of the line that is parallel to 2x +5y = 7 and passes

through the mid-point of the line joining (2, 7) and (-4, 1).

| e |


https://dl.doubtnut.com/l/_JxS4yxA0Vlbi
https://dl.doubtnut.com/l/_3ATCd0n8m2ZM
https://dl.doubtnut.com/l/_9xNnfAsaNu1M
https://dl.doubtnut.com/l/_L1znrWMbCXtE

I & Watch Video Solution

161. Find the equation of the perpendicular bisector of the st. line

segment whose end points are (0, 5) and (- 4,1).

° Watch Video Solution

162. Prove that the equation of the st. line parallel to Ax + By + C = 0 and

passing through (z1,y;) is A(x — z1) + B(y — y1) = 0.

° Watch Video Solution

163. Prove that the equation of the st. line perpendicular to Ax + By + C =

0 and passing through (z1,y;) is Bz — Ay = Bz — Ay;.

° Watch Video Solution



https://dl.doubtnut.com/l/_L1znrWMbCXtE
https://dl.doubtnut.com/l/_4Ha1FVolEOz2
https://dl.doubtnut.com/l/_obC6y1mQIvjx
https://dl.doubtnut.com/l/_RrU04guw5gdp

164. Find the equation of the st. line going through the point (1,-2) and

perpendicular to x -2y + 3= 0.

° Watch Video Solution

165. Find the equation of a line passing through (4,5) and perpendicular

to the line 2x + 3y=5.

° Watch Video Solution

166. Find the equation of a line perpendicular to 2x+4y-9=0 and Passing

th h th int L3
rough the point | 5, 7 ).

o Watch Video Solution

167. Find the equation of the line Perpendicular to the line x -7y +5 =0 and

having x-intercept 4.



https://dl.doubtnut.com/l/_xlDYF6eFnjX0
https://dl.doubtnut.com/l/_hnVFmWaSsRbg
https://dl.doubtnut.com/l/_c41qIXFPqXRG
https://dl.doubtnut.com/l/_h7eTeEhrmk6b

l ) Watch Video Solution J

168. Find the equation of a line that is perpendicular to 3x + 2y = 8 and
passes through the mid-point of the line segment joining : (5, - 2) and (2,

2).

o Watch Video Solution

169. Find the equation of a line that is perpendicular to 3x + 2y = 8 and
passes through the mid-point of the line segment joining : (2, 7) and (- 4,

1).

o Watch Video Solution

170. Find the equation of the right-bisector of the line segment joining

the points (1,0) and (2, 3).

o Watch Video Solution



https://dl.doubtnut.com/l/_h7eTeEhrmk6b
https://dl.doubtnut.com/l/_WHCajq0G0Peb
https://dl.doubtnut.com/l/_kzmWsBWDqx3Z
https://dl.doubtnut.com/l/_ABeVACdfnKGa

171. Find the equation of the line passing through (-3, 5) and

perpendicular to the line through the points (2, 5) and (-3, 6).

° Watch Video Solution

172. Find the equation of the line, which is perpendicular to 5x- 2y = 7 and

passes through the mid-point of the line joining (2, 7) and (- 4, 1).

° Watch Video Solution

173. Find the equation of a st. line drawn at right angles to the st. line

z + % = 1 through the point, where it meets the x-axis.
a

° Watch Video Solution

174. Find the equation of a line drawn perependicular to the line

% + % = 1, through the point where it meets the y-axis.

| e |


https://dl.doubtnut.com/l/_AtGefGbPNvjx
https://dl.doubtnut.com/l/_qXFdmk0S3SEG
https://dl.doubtnut.com/l/_GsfmIPHnyxGg
https://dl.doubtnut.com/l/_a7JuefpOXoo8

I & Watch Video Solution

175. The perpendicular from the origin to a line meet at the point (-2, 9),

find the equation of the line.

° Watch Video Solution

176. A line perpendicular to the line-segment joining the points (1, 0) and

(2, 3) divides it the ratio 1: n. Find the equation of the line.

° Watch Video Solution

177. The perpendicular from the origin to the line y = mx + ¢ meets it at

the point (-1, 2). Find the values of m and c.

° Watch Video Solution



https://dl.doubtnut.com/l/_a7JuefpOXoo8
https://dl.doubtnut.com/l/_LCnp9xcusWXl
https://dl.doubtnut.com/l/_oeBODw313cp7
https://dl.doubtnut.com/l/_VO9T7fkiNvwg

178. Two lines passing through the point (2, 3) intersect each other at an
angle of 60°. If the slope of one line is 2, find the equation of the other

line.

° Watch Video Solution

179. Show that the equation of the line through the origin and making an

. . .y m + tan@
angle 6 with the liney =mx+cis: = = ————

1 —;mta,nB

° Watch Video Solution

180. If the lines y = 3z + 1 and 2y = = + 3 are equally inclined to the

line y = mx + 4, find the value of m.

° Watch Video Solution



https://dl.doubtnut.com/l/_yQYmpiZ2Igb7
https://dl.doubtnut.com/l/_ianSCpAjJZ9b
https://dl.doubtnut.com/l/_VD0f1JZYok1L

181. Let ABC be a triangle with A( — 1, — 5), B(0,0) and C(2,2) and let D
be the middle point of BC Find the equation of the perpendicular drawn

from B to Ad

° Watch Video Solution

182. Find the image of the point (3, 8) with respect to the linez + 3y = 7,

assuming line as a plane mirror.

° Watch Video Solution

1
183. What are inclinations to the x-axis of the st. lines : y = gx\/fi +3
and y = 1/3z + 3 ? Show that the st. line y = x + 3 bisects the angle

between them.

° Watch Video Solution



https://dl.doubtnut.com/l/_x269gqRavbGi
https://dl.doubtnut.com/l/_vAUGslziNBy4
https://dl.doubtnut.com/l/_sizyXlL7PE5d

184. Prove that the points (2, - 1), (0, 2), (3, 3) and (5,0) are the vertices of a

parallelogram. Also find the angle between its diagonals.

° Watch Video Solution

185. Prove that the diagonals of the parallelogram formed by the four
straight lines : V3z+y=0,3y+z =0,

V3z +y =1 and /3y + x + 1 are at right angle to one another.

° Watch Video Solution

186. The equations of three lines are given by
152 — 8y + 1 =0, 12z + 5y — 3 = 0 and 21x-y-2=0. Show that the third

line bisects the angle between the other two lines.

° Watch Video Solution



https://dl.doubtnut.com/l/_W21wFXgFNNdm
https://dl.doubtnut.com/l/_5Zj7Ee5XVtnu
https://dl.doubtnut.com/l/_rGQCqnbRrHpf

187. The three sides AB, BC, CA of a triangle are 5x - 3y +2 = 0,x-3y-2=0 and

x+y-6=0 respectively. Find equation of the altitude through the vertex A.

° Watch Video Solution

188. Find the equation of the line through the point (O, 2) making an
2
angle % with the positive x-axis. Also, find the equation of the line

parallel to it and crossing the y-axis at a distance of 2 units below the

origin.

° Watch Video Solution

189. Find the point of intersection of the straight lines :

2c+3y—6=0,3x — 2y — 6 =0.

° Watch Video Solution



https://dl.doubtnut.com/l/_nJ38s1NSGBxi
https://dl.doubtnut.com/l/_Y4b2FuMwRQpS
https://dl.doubtnut.com/l/_9sk6WfbhoSoi

190. Find the point of intersection of the straight lines :

x=0, 2x-y +3 =0.

° Watch Video Solution

191. Find the point of intersection of the straight lines :

° Watch Video Solution

192. Two lines cut the axis of x at distances of 4 and -4 and the axis of y at
distances 2 and 6 respectively. Find the co-ordinates of their point of

intersection.

° Watch Video Solution



https://dl.doubtnut.com/l/_PM4MtPCHXfpJ
https://dl.doubtnut.com/l/_Eou3ZovGyZT2
https://dl.doubtnut.com/l/_NcpgTLR88Udw

193. If ax-2y-1=0 and 6x-4y+b=0 represent the same line, find the values of

aand b.

° Watch Video Solution

194. The line 2x-3y=4 is perpendicular bisector of the line AB. If the

coordinates of A are (-3,1). Fiind the coordinates of B.

° Watch Video Solution

195. Show that the straight lines : x-y-1=0, 4x + 3y = 25 and 2x-3y + 1=0 are

concurrent.

° Watch Video Solution

196. For what value of K are the three st. lines :

2x+y-3=0, 5x + ky-3=0 and 3x-y-2=0 are concurrent ?

| e |


https://dl.doubtnut.com/l/_3tjCxcaAviIW
https://dl.doubtnut.com/l/_4hTl66zhlj1I
https://dl.doubtnut.com/l/_SaAfexcxOXEa
https://dl.doubtnut.com/l/_lGcKxS4Ti6G7

I & Watch Video Solution

197. For what value of K are the three st. lines :

3x+y-2=0,kx+ 2y-3=0 and 2x-y-3=0 are concurrent ?

° Watch Video Solution

198. If the lines whose equations are
Yy =mx + ¢,y = mox + c3 and y = msx + c3 are concurrent, then

show that m1(<:2 - (23) + m2(03 - C1) + m3(01 - 02) = 0.

° Watch Video Solution

199. Find the condition that the st. lines
T+ qy =1,px + @y =1 and psz + g3y = 1 be concurrent, show

that the point (py, ¢1), (p2, ¢2) and (ps, g3) are collinear.

° Watch Video Solution



https://dl.doubtnut.com/l/_lGcKxS4Ti6G7
https://dl.doubtnut.com/l/_TYWPlpjgBLYz
https://dl.doubtnut.com/l/_qvdIyZMkM2H0
https://dl.doubtnut.com/l/_uGDZuCP00HMf

200. Find the foot of the perpendicular from the point (-1, 2) on the st.

line x-y +5 =0.

° Watch Video Solution

201. Prove that the diagonals of the parallelogram formed by the four

. T Y x
lines : — 4+ —==1,—+
a b b

are at right angles .

y
a

— 1,23y tadZ+¥-
a b b a

° Watch Video Solution

202. Prove that the following lines are concurrent. Also, find the point of
concurrence :

S5 — 3y = 1, 2x + 3y = 23,42z + 21y = 257.

° Watch Video Solution



https://dl.doubtnut.com/l/_RRGsYujBz8w5
https://dl.doubtnut.com/l/_8sqNUEjRTfqA
https://dl.doubtnut.com/l/_QmiigC1qYZr1

203. Prove that the following lines are concurrent. Also, find the point of
concurrence :

2c +3y—4=0,z —5y+7=0,6x — 17y +24 = 0.

° Watch Video Solution

204. The sides of a triangle are given by : x-2y+9=0, 3x + y-22 =0 and x +

5y+2=0.Find the vertices of the triangle.

° Watch Video Solution

205. Obtain the co-ordinates of the feet of perpendiculars drawn from the
origin upon the lines 3z — 5y 4+ 2 =0 and 4z — 3y + 5 = 0 and show

that the equation of the st. line joining these feet is 26z 4 53y = 11.

° Watch Video Solution



https://dl.doubtnut.com/l/_KNLYOPc4Bn04
https://dl.doubtnut.com/l/_zuLNeIz0XRjm
https://dl.doubtnut.com/l/_bHeKj9fcTnna

206. Vertices of a triangle are (-1, 3), (2, -1), (O, 0). Find its orthocentre.

° Watch Video Solution

207. A triangle is determined by the lines : y+x-6=0, 3y-x + 2 = 0, 3y = 5x +2.

Find the co-ordinates of its orthocentre.

° Watch Video Solution

208. Two vertices of a triangle are (3,-1) and (- 2, 3) and its orthocentre is

at the origin. Find the co-ordinates of the third vertex.

° Watch Video Solution

209. Find the co-ordinates of the incentre of the triangle formed by the

linesy — 15 = 0, 12y — 5z = 0 and 4y + 3z = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_iCUGC9KDXMnY
https://dl.doubtnut.com/l/_SIQkZnzVQtsR
https://dl.doubtnut.com/l/_ZYCoiyrVAelg
https://dl.doubtnut.com/l/_LVOgjOlP3kwu

210. Find the co-ordinates of the circumcentre of the triangle whose
vertices are :

(-2,2),(2,-1) and (4, 0).

° Watch Video Solution

211. Find the co-ordinates of the circumcentre of the triangle whose
vertices are :

(1,2),(3,-4) and (5,6).

° Watch Video Solution

212. Find the area of the triangle formed by the lines y-x=0, x+y=0 and x-

k=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_LVOgjOlP3kwu
https://dl.doubtnut.com/l/_xMDmGAtFrQCW
https://dl.doubtnut.com/l/_EDOD9qX8Hf94
https://dl.doubtnut.com/l/_VxbEedLQYRAF
https://dl.doubtnut.com/l/_yUkiw94bhi0G

213. Prove analytically that the : medians of a triangle are concurrent.

° Watch Video Solution

214. Prove analytically that the altitudes of a triangle are concurrent.

° Watch Video Solution

215. The co-ordinates of points A, B and C are (1, 2),(-2, 1) and (O, 6)
respectively. Verify that the medians of the triangle ABC are concurrent.

Also, find the co-ordinates of the point of concurrence (centroid).

° Watch Video Solution

216. Prove that the diagonals of a square are equal.

° Watch Video Solution



https://dl.doubtnut.com/l/_yUkiw94bhi0G
https://dl.doubtnut.com/l/_2EhESuE02i3G
https://dl.doubtnut.com/l/_6q8smfDJYIf5
https://dl.doubtnut.com/l/_vnHDInGd6Kjg

217. Which of the following statements are True or False :

The diagonals of a parallelogram bisect each other.

° Watch Video Solution

218.Say True or False:

The diagonals of a square are perpendiculare to one another.

° Watch Video Solution

219. If two medians of a triangle are equal, prove that the triangle is

isosceles.

° Watch Video Solution

220. Prove that the median from the vertex of an isosceles triangle is the

bisector of the vertical angle.

| e |


https://dl.doubtnut.com/l/_wVUPdOYEA3tW
https://dl.doubtnut.com/l/_hvnO1kCFsX6h
https://dl.doubtnut.com/l/_synejyeLTqJi
https://dl.doubtnut.com/l/_l5IOO3gZvAbU

I & Watch Video Solution

221. If the diagonals of a parallelogram are perpendicular, then it is a

rhombus.

° Watch Video Solution

222. Which of the following statements are True or False :

If the diagonals of a parallelogram are equal then it is a rectangle.

° Watch Video Solution

223. Classify the following pairs of lines as coincident, parallel,
perpendicular or intersecting :

6z + 14y — 16 = 0, 12z + 28y — 32 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_l5IOO3gZvAbU
https://dl.doubtnut.com/l/_blLXjXVsjuTW
https://dl.doubtnut.com/l/_6ASFULT9HIym
https://dl.doubtnut.com/l/_fsLm1izj1snD
https://dl.doubtnut.com/l/_X6FvbNPY23JR

224. Classify the following pairs of lines as coincident, parallel,
perpendicular or intersecting :

3r —4y = 8,3z + 4y = 11.

° Watch Video Solution

225. Classify the following pairs of lines as coincident, parallel,
perpendicular or intersecting :

br —2y="7,2y— 5 = —T.

° Watch Video Solution

226. Classify the following pairs of lines as coincident, parallel,
perpendicular or intersecting :

dr +Ty =19, 7 — 4y = — 2.

° Watch Video Solution



https://dl.doubtnut.com/l/_X6FvbNPY23JR
https://dl.doubtnut.com/l/_7Ggc0zGr4R5U
https://dl.doubtnut.com/l/_8UByV0O0UgrV

227. Classify the following pairs of lines as coincident, parallel,
perpendicular or intersecting :

x—2y="74y— 2z = 13.

° Watch Video Solution

228. Find the distance between the line and the point of the following :

3z4+4y—5=0,(—3,4).

° Watch Video Solution

229. Find the distance between the line and the point of the following :

122 — 5y —7=0,(3, —1).

° Watch Video Solution



https://dl.doubtnut.com/l/_Ye50cG6TynK2
https://dl.doubtnut.com/l/_PA2rfYPCit9z
https://dl.doubtnut.com/l/_byb4jo1PxoRR

230. Find the distance between the line and the point of the following :

12(z +6) =5(y — 2),(—1,1).

° Watch Video Solution

231. Find the distance between the line and the point of the following :

3z — 4y —26=0(3, —5).

° Watch Video Solution

232.Find the distance between the line and the point of the following :

z+y=0,(0,0).

° Watch Video Solution

233. Find the distance between the line and the point of the following :

y=4,(2,3).

| e


https://dl.doubtnut.com/l/_i2xkfW1pN8KR
https://dl.doubtnut.com/l/_kwxlqcBbE4jr
https://dl.doubtnut.com/l/_o2JMzys2PL4m
https://dl.doubtnut.com/l/_xJx4JjZ6TJ3A

| & Watch Video Solution I

234. Which of the st. lines 2x - y + 3 = 0 and x- 4y-7=0 is farther from the

origin ?

° Watch Video Solution

235. Find the point on the x-axis, whose distances from the line

% + % = 1 are 4 units.

° Watch Video Solution

236. In the triangle with vertices A (2, 3), B (4, -1) and C (-1,2), find the

equation and length of the altitude from the vertex A.

° Watch Video Solution



https://dl.doubtnut.com/l/_xJx4JjZ6TJ3A
https://dl.doubtnut.com/l/_hGGTmqSfpQQ2
https://dl.doubtnut.com/l/_4978qUec0vif
https://dl.doubtnut.com/l/_2Y1lKCPhg3Vc

237. The vertices of a triangle are A (-2, 1), B (6, -2) and C (4, 3). Find the

lengths of the altitudes of the triangle.

° Watch Video Solution

238. Find perpendicular distance of the line joining the points

(cos 0, sin®) and (cos ¢, sin ¢) from the origin.

° Watch Video Solution

239. If p is the length of perpendicular from the origin to the line whose

1 1 1
intercepts on the axes are a and b, then show that — = — + ?

P a

° Watch Video Solution

240. If p and q are respectively the perpendiculars from the origin upon

the striaght lines, whose equations are


https://dl.doubtnut.com/l/_NLHeI7byRO3z
https://dl.doubtnut.com/l/_txifoSEzmqky
https://dl.doubtnut.com/l/_ZQv2XYoSjcxL
https://dl.doubtnut.com/l/_ocYeuwpnS89l

zsech + ycosecd = a and x cosh — ysinb = a cos 20, thendp® + ¢° is

equal to

° Watch Video Solution

241.If p and q are the lengths of perpendicular from origin to the lines
x cosf — ysinf = kcos 20 and x secf + ycosecd = k respectively.

Prove that p? + 4¢* = k>.

° Watch Video Solution

242. Find the length of the perpendicular from the vertex B of A ABC

to the median through Cif Aiis (-10,-13), B is (-2, 3) and Cis (2,1).

° Watch Video Solution

243. Find the distance between the parallel lines :

4x -3y -9 =0 and 4x - 3y - 24=0.



https://dl.doubtnut.com/l/_ocYeuwpnS89l
https://dl.doubtnut.com/l/_ughmbxg43MmA
https://dl.doubtnut.com/l/_kHFOS7qaC2Z0
https://dl.doubtnut.com/l/_vE9Hsil1duOm

| ° Watch Video Solution

244.Find the distance between the parallel lines

(i) 152z + 8y — 34 = 0 and 15z + 8y + 31 = 0.

° Watch Video Solution

245, Find the distance between the parallel lines :

I(x +y) + p =0 and Ix +ly-r=0.

° Watch Video Solution

246. The perpendicluar distance of a st. line from the origin is 5cm and its

slope is -1. Find the equation of the st. line .

° Watch Video Solution



https://dl.doubtnut.com/l/_vE9Hsil1duOm
https://dl.doubtnut.com/l/_6UoYtZSc3e25
https://dl.doubtnut.com/l/_Myk1095meLFB
https://dl.doubtnut.com/l/_52M8XKRin4t1

247.1f sum of the perpendicular distances of a variable point P (x, y) from
the lines x + y-5=0 and 3x - 2y + 7 = O is always 10. Show that P must

move on a line.

° Watch Video Solution

248.Find the equation of the line which is equidistant from parallel lines

9z + 6y — 7=0and 3z + 2y + 6 = 0.

° Watch Video Solution

249. Prove that the product of the lengths of the per-pendiculars drawn
from the points < a — v, O) and ( —va?® — b, O) to the line

£c059 + gsinﬂ =1lisb?.
a b

° Watch Video Solution



https://dl.doubtnut.com/l/_kzwuduBfsAY8
https://dl.doubtnut.com/l/_5GlkOu3Grycd
https://dl.doubtnut.com/l/_R9F61dj71nLd

250. If 5x- 12y+26=0 and 5x- 12y- 65 = O are the equations of a pair of

opposite sides of a square, show that its area is 49 square units.

° Watch Video Solution

251. Find the equations of the bisectors of the angles formed by the
following pairs of lines :

x+2y+3 =0 and 2x+y-2=0.

° Watch Video Solution

252. Find the equations of the bisectors of the angles formed by the
following pairs of lines :

3x+4y+13=0 = and 12x- 5y + 32=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_YtUgY1Nqzs5x
https://dl.doubtnut.com/l/_4q0FcTcTvbfr
https://dl.doubtnut.com/l/_9kf1FbZGUXX7

253. Find the equations of the bisectors of the angles formed by the

following pairs of lines :

T+ 3y=6+2/3andz — /3y =6 —2,/3.

° Watch Video Solution

254. Find the equations of the bisectors of the angles formed by the
following pairs of lines :

4x+3y-5=0 and 5x + 12y-41=0.

° Watch Video Solution

255. Find the equations of the bisectors of the angles formed by the

following pairs of lines :

2 2
y—b= 1_mm2(m—b)andy—b: m

1_m2(ac—|rb)

° Watch Video Solution



https://dl.doubtnut.com/l/_1TZZp9k2MbrF
https://dl.doubtnut.com/l/_fzQ5uMh5w3Bt
https://dl.doubtnut.com/l/_ZYxFyJPpiC5a
https://dl.doubtnut.com/l/_KSk5QE97Oip8

256. Prove that the bisectors of the angles formed by pairs of lines are
perpendicular to each other:

x+2y+3 =0 and 2x+y-2=0.

° Watch Video Solution

257. Prove that the bisectors of the angles formed by pairs of lines are
perpendicular to each other:

3x+4y+13=0 = and 12x- 5y + 32=0.

° Watch Video Solution

258. Prove that the bisectors of the angles formed by pairs of lines are
perpendicular to each other:

T+ 3y=6+2/3andz — /3y =6 —2,/3.

° Watch Video Solution



https://dl.doubtnut.com/l/_KSk5QE97Oip8
https://dl.doubtnut.com/l/_NoQCFqzjll9k
https://dl.doubtnut.com/l/_x4AND4zMa9wo

259. Find the equations of the bisectors of the angles formed by the
following pairs of lines :

4x+3y-5=0 and 5x + 12y-41=0.

° Watch Video Solution

260. Find the equations of the bisectors of the angles formed by the

following pairs of lines :

2 2
y—b= 1_mm2(x—b)andy—b: m

1_m2(arz—|rb)

° Watch Video Solution

261. Find the equations of the bisectors of the internal angles of the
triangles, the sides of which have the equations :

3x+5y=15x+y = 4 and 2x+y=6.

° Watch Video Solution



https://dl.doubtnut.com/l/_ue9BnID7r0NQ
https://dl.doubtnut.com/l/_b3JdPDuCEyr4
https://dl.doubtnut.com/l/_biRGpNNPNCXS
https://dl.doubtnut.com/l/_blKCMDCgbJ29

262. Find the equations of the bisectors of the internal angles of the
triangle whose sides are

32 +4y—6=0,12z — 5y — 3= 0,4z — 3y + 12 = 0.

° Watch Video Solution

263. Find the equations of the straight lines passing through the foot of
the perpendicular from the point (2,3) upon the straight line
4z + 3y + 5 = 0 and bisecting the angles between the perpendicular

and the given straight line.

° Watch Video Solution

264. Find the new coordinates of the points in each of the following cases

if the origin is shiftedto point (-3, -2) by a translation of axes.

(i) (1,7) (i) (0, 1)

° Watch Video Solution



https://dl.doubtnut.com/l/_blKCMDCgbJ29
https://dl.doubtnut.com/l/_WvZsYXhhIDVQ
https://dl.doubtnut.com/l/_ObEzwd7sCRYE
https://dl.doubtnut.com/l/_sf6dHV0qfBqz

265. Find the new co-ordinates of the following points when the origin is

shifted to the point (- 3,-2) by a translation of axes : (-1,-2).

° Watch Video Solution

266. Find the new co-ordinates of the following points when the origin is

shifted to the point (- 3,-2) by a translation of axes : (3, -5).

° Watch Video Solution

267. Find the new co-ordinates of the point (3, -4) when the origin is

shifted to (1, 2) by translation of axes.

° Watch Video Solution

268. Find the transformed equation of the st. line 2z — 3y + 5 = 0 when

the origin is shifted to the point (3, -1) after translation of axes.

s l


https://dl.doubtnut.com/l/_sf6dHV0qfBqz
https://dl.doubtnut.com/l/_Z7WPmcqEjmeZ
https://dl.doubtnut.com/l/_UcvAOV7sP0Gc
https://dl.doubtnut.com/l/_9cKjM7AZoXOK

| ¥ Vvatch Video Solution J

269. Prove that the equations of the st. lines x+y-1=0 and x-y-1= O can be

written as x + y =0 and x-y = 0 by shifting the origin to a suitable point.

° Watch Video Solution

270. Find what the following equations become when the origin is shifted
to the point (1, 1)

:1:2+my—3y2—y—l—2:0

° Watch Video Solution

271. Find the transformed equations of the following when the origin is
shifted to the point (1, 1) by a translation of axes :

my—yz—m—i—y:O.

° Watch Video Solution



https://dl.doubtnut.com/l/_9cKjM7AZoXOK
https://dl.doubtnut.com/l/_jLQ4zjF02EZu
https://dl.doubtnut.com/l/_ICbflyFMfKoB
https://dl.doubtnut.com/l/_F5QkpL9AUsrx

272.Find what the following equations become when the origin is shifted
to the point (1, 1)

zy—r—y+1=0

° Watch Video Solution

273. Find the transformed equations of the following when the origin is
shifted to the point (1, 1) by a translation of axes :

m2—y2—2m+2y:0.

° Watch Video Solution

274.Find the transformed equation of the curve : Yy’ —dx +4y+8=0,

when the origin is shifted to (1, -2).

° Watch Video Solution



https://dl.doubtnut.com/l/_ElvhymuyeBTq
https://dl.doubtnut.com/l/_ODU2uPPudadj
https://dl.doubtnut.com/l/_kE7ZngxhppAZ

275. Find the point to which the origin should be shifted after a
translation of axes so that the following equations will have no first

degree terms :

22— 122 +4 = 0.

o Watch Video Solution

276. Find the point to which the origin should be shifted after a
translation of axes so that the following equations will have no first
degree terms :

2?4y -5 +2y—5=0.

o Watch Video Solution

277. Find the point to which the origin should be shifted after a
translation of axes so that the following equations will have no first
degree terms :

2?2 +y* — 4z —8y+3=0.


https://dl.doubtnut.com/l/_tNhndL80AV9V
https://dl.doubtnut.com/l/_pQxWojVdLwGl
https://dl.doubtnut.com/l/_Xv2N2vnHJKXt

° Watch Video Solution

278. Find the point o) that the equation
1222 — 10zy + 2y° + 11z — 5y + 2 =0 referred to parallel axes
through it may transform into one from which terms of the first degree in

x and y are absent.

° Watch Video Solution

279. Simplify the equation z? +y® + 8z — 6y — 25 = 0 to the form

Az? + By? = K, by shifting the origin to a suitable point.

° Watch Video Solution

280. Verify that the area of the triangle with vertics (2, 3), (5, 7) and (-3, -1)
remains invariant under the translation of axes when the origin is shifted

to the point (-1, 3).

. l


https://dl.doubtnut.com/l/_Xv2N2vnHJKXt
https://dl.doubtnut.com/l/_j7SS8UOfTfT9
https://dl.doubtnut.com/l/_cOSMHHef6fBq
https://dl.doubtnut.com/l/_IE5sjk2xVzy1

| ' vvatch video sSolution J

281. Find the equation of the family of lines satisfying the following
condition :

passing through the origin .

° Watch Video Solution

282. Find the equation of the family of lines satisfying the following
condition :

parallel to the line 3x + 4y + 5=0.

° Watch Video Solution

283. Find the equation of the family of lines satisfying the following
condition :

having slope 5.

° Watch Video Solution



https://dl.doubtnut.com/l/_IE5sjk2xVzy1
https://dl.doubtnut.com/l/_43FiImFOocQJ
https://dl.doubtnut.com/l/_gTh3Y0V6OkZD
https://dl.doubtnut.com/l/_fe3BOFkVThT8

284. Find the equation of the family of lines satisfying the following
condition :

having y- intercept 4.

° Watch Video Solution

285. Find the equation of the lines passing through the point of
intersection of x+2y=5 and x-3y=7 and passing through :

(1,0).

° Watch Video Solution

286. Find the equation of the line passing through the point of
intersection of x + 2y =5 and x - 3y = 7, and passing through the point : (O,

-1).

° Watch Video Solution



https://dl.doubtnut.com/l/_fe3BOFkVThT8
https://dl.doubtnut.com/l/_W9szpxCq0J3a
https://dl.doubtnut.com/l/_n2ZsFju4g0b7
https://dl.doubtnut.com/l/_G9RuBp07tPcY

287. Find the equation of the lines passing through the point (-4,5) and

the point of intersection of the lines 4x-3y+7=0 and 2x+3y+5=0.

° Watch Video Solution

288. Find the equation of the line through the intersection of lines

3z +4y =7 and ¢ — y + 2 = 0 and whose slope is 5.

° Watch Video Solution

289. Find the equation of the lines passing through the intersection of

3x+4y=7 and x-y+2=0 and with slope: 3.

° Watch Video Solution

290. Find the equation of the lines passing through the intersection of

the lines : 3x+7y-7=0 and x-y+2=0 and with slope 5.

| e |


https://dl.doubtnut.com/l/_MNq0eMe1SUcu
https://dl.doubtnut.com/l/_rLoxW4P8bHdV
https://dl.doubtnut.com/l/_IGt7KZfb7Z2f
https://dl.doubtnut.com/l/_TOS3tgNcAhsJ

I & Watch Video Solution

291. Find the equation of the line passing through the intersection of the

lines 2x+3y-4=0 and x-5y+7=0 that has its x-intercept equal to -4.

° Watch Video Solution

292. Find the equation of the line passing through the point of
intersection of the lines 4o + 7Ty —3 =0,2z — 3y + 1 = 0 that has

equal intercepts on the axes.

° Watch Video Solution

293. Find the equation of the straight line parallel to the y-axis and drawn

through the intersection of the lines : x-7y+5=0 and 3x+y=0.

° Watch Video Solution



https://dl.doubtnut.com/l/_TOS3tgNcAhsJ
https://dl.doubtnut.com/l/_MKp5mw8EpP2f
https://dl.doubtnut.com/l/_cuzInkvicMzn
https://dl.doubtnut.com/l/_SW7yIMBmAX1z
https://dl.doubtnut.com/l/_ZcCrhC7aE5sN

294. Find the equation of the straight line parallel to the y-axis and drawn

through the intersection of the lines : x-7y+5=0 and 3x+y=0.

° Watch Video Solution

295. Find the equation of the line passing through the intersection of the

lines : x+2y-3=0and 4x-y+7=0 and which is parallel to y-x + 10=0.

° Watch Video Solution

296. Find the equation of the lines passing through the point of
intersection of : 5x-3y=1 and 2x + 3y = 23 and perpendicular to the line

whose equation is : x-2y=3.

° Watch Video Solution

297. Find the equation of the lines passing through the point of

intersection of : 5x-3y=1 and 2x + 3y = 23 and perpendicular to the line


https://dl.doubtnut.com/l/_ZcCrhC7aE5sN
https://dl.doubtnut.com/l/_HrwNlK8ZexwN
https://dl.doubtnut.com/l/_zrHG0ERCb9Dl
https://dl.doubtnut.com/l/_VzY4zq8k5oSE

whose equation is : y=0.

° Watch Video Solution

298. Find the equation of the lines passing through the point of
intersection of : 5x-3y=1 and 2x + 3y = 23 and perpendicular to the line

whose equation is : x =0.

° Watch Video Solution

299. Find the equation of the lines passing through the point of
intersection of : 5x-3y=1 and 2x + 3y = 23 and perpendicular to the line

whose equation is : 5x -3y=1.

° Watch Video Solution

300. Find the equation of the line perpendicular to the line 2x+y -1 = 0

through the intersection of the lines x+2y -1= 0 and y=x.



https://dl.doubtnut.com/l/_VzY4zq8k5oSE
https://dl.doubtnut.com/l/_DpZ2SP4FHSBc
https://dl.doubtnut.com/l/_rcALiS18CDqM
https://dl.doubtnut.com/l/_A5eKiCf21uOP

| ° Watch Video Solution

301. Find the equation of a straight line passing through the point of
intersection of the lines : 3x +y-9 =0 and 4x + 3y-7=0 and perpendicular to

the line 5x -4y + 1 =0.

° Watch Video Solution

302. Find the equation of the straight line passing through the
intersection of : x +2y-3=0 and 3x+ 4y-7=0 and perpendicular to x +

3y+4=0.

° Watch Video Solution

303. Find the equation of a line passing through the intersection of the

lines 2x + 3y-2 = 0 and x-2y + 1=0 and having x-intercept equal to 3.

° Watch Video Solution



https://dl.doubtnut.com/l/_A5eKiCf21uOP
https://dl.doubtnut.com/l/_WAifm7OBQl5J
https://dl.doubtnut.com/l/_qtZNFWI57x5R
https://dl.doubtnut.com/l/_JgFiJ6hi8pdL

304. Find the equation line which passes through the intersection of the
straight lines,
3r —4y+1=0and 52 +y—1=0 and cuts off equal intercepts

from the axes .

° Watch Video Solution



https://dl.doubtnut.com/l/_YCrjUOZZQNGR

